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KEREREE EEAERE
No. % HER | MER | K [ TEURE| snm kg BWE | OBE | SS oLl Lt BE sk iE Xk =
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134CS IS?CS 134CS IS?CS 134CS IS?CS
1 [EiE3 28T H26.10. 4 0.84 0.60 0.10] 60LLE 3 2 < < - - 12 56 8, 600 26,000/ 28
2 |FEHhiE 28T H26.10.5 0.73 0.40 0.10 56 10 11 < < - - 4 59 8, 800 27,000/ 28
3 [RHEIGAE BET H26.10.5 0.77 0.40 0.10 60 8 9 < < - - 10 58 7, 400 23,000(f2E 8
4 |[FEHE 28T H26.10.5 0.98 0.80 0.10 60 2 4 < < - - 3 69 7,100 22,000|F2 B8
5 |EHAKE 28T H26.10.5 0.79 0. 60 0.10] 60LLE 1 1 < < - - 3 57 2, 600 71,9002 58
6 [FIRARAA 28T H26.10.7 0.94 0.80 0.10 29 22 18 < < - - 11 65 6, 200 19,0002 B8
1 |ZRA 28T H26. 10. 4 0.87 0.50 0.10 35 33 29 < < - - 6 65 9, 200 29,000|F2 B8
8 |EiEIRA BET H26. 10. 4 0. 65 0.40 0.10 39 10 8 < < - - 11 55 4, 400 14,0002 B8
9 [F=RIEAE BET H26. 10. 7 0.28 0.40 0.10 38 10 8 < < - - 9 33 860 2, 600|258
0 [EXHAE 28T H26.10.4 0.70 0.40 0.10 78 6 6 < < - - 4 52 3, 300 10, 000[{E 68
MBI 28T H26.10. 3 0.58 0. 60 0.10 54 4 6 < 1 <1 <1 8 68 11,000 33,000(f2E 8
2 B/ A 28T H26.10. 3 0. 69 0.60 0.10 38 9 9 < 1 <1 <1 1 63 10, 000 32,000(f2E 8
3 |B/ T8 (2) BET H26.10. 3 0.26 0.60 0.10] 60LLE 2 1 < < - - 1 30 70 210[4E B8
4 |RL AL 2EmH H26.10. 3 0.92 0.30 0.10 63 6 10 < < - - 5 59 4, 800 14, 000[{E 88
5 [KiRiB 2EmH H26.10.3 0.77 0.30 0.10 79 2 3 < < - - 8 66 6, 400 20,000/ 28
6 [/hiHiE (1) BET H26. 10. 3 0.71 0.50 0.10 20 27 29 < < - - 10 67 5, 800 18,0002 B8
1 [/hfHig (2) BET H26.10. 3 0.81 0.40 0.10 49 4 10 < < - - 6 57 8, 500 26,000/ 2B 8
8 |£1FAZ 2EmH H26.10. 4 0.22 0.60 0.10 90 4 3 < < - - 6 55 3, 400 11, 000[{E 88
9 [7<ER:Z B2EmH H26.10.5 0.41 0.60 0.10 76 3 3 < < - - 4 53 3, 800 11, 000[{E 88
20 [#AF3E 2EmH H26.10.5 0.30 0.80 0.10] 60LLE 1 1 < < - - 3 40 1, 600 4,800[EEE
21 [£838 BET H26.10. 10 0.27 0.40 0.10 58 5 14 < < - - 12 66 3,100 9, 900|258
22 [+7}:8 2EmH H26.10. 4 0.16 2.50 0.50 61 3 24 < < - - 7 66 5, 700 18, 000[{E B8
23 |KF& 2ETH H26. 10. 2 0.32 1.20 0.50 40 8 14 < 2 <1 <1 10 64 3,200 9, 600[{EE 8
24 | KEES L 2ETH H26.10. 4 0.41 2.60 0.50 85 6 8 < < - - 6 43 420 1,300/ 28
25 |5 HEREIA BET H26.10.7 0. 66 0.50 0.10 60 8 8 < < - - 2 57 12, 000 37,000[f2E 8
26 |5/ %A 2EmH H26.10.7 0.27 0.50 0.10 35 16 23 < < - - 0 59 3, 400 10, 000[{E B8
21 |FEiR:AE 2EmH H26.10. 10 0.35 0.60 0.10 55 6 5 < < - - 2 12 2,000 6, 300|258
28 | E/\THA BET H26.10. 10 0.24 0.50 0.10 56 10 14 < < - - 0 63 2, 600 8, 100|258
29 [%EETA 2B H26.10. 10 0.42 0.30 0.10 26 11 12 < < - - 2 53 2, 400 7,600[ 2B 8
30 [BHELFP 2B H26. 10. 2 0.38 0. 60 0.10] 60Li.E 3 3 < < - - 4 68 2, 300 7,300[2E 8
31 |FFHF P 2Bt H26. 10. 2 0.47 0.90 0.10] 60LiE 1 1 < < - - - - - -[EEEE RERA
32 |#%BHE 2B H26.10. 9 0.70 0.40 0.10 40 8 7 < < - - 10 58 3,200 0,000[42B &
33 [li/ A& 2B H26.10. 8 0.31 1.60 0.50 25 3 5 < < - - 8 69 5, 300 7,000[2E 8
34 |BRE%E f=n H26.10. 8 0.45 0. 60 0.10 58 5 7 < < - - 12 60 4, 600 4,000[42B 8
35 |45 2B H26.10.7 0.3 0. 60 0.10 28 36 37 < < - - 7 61 1,900 5,900|2 B8
36 [dtALLA 2B H26.10.5 0.3 0.90 0.10 14 4 2 < < - - 6 69 2,500 8,200|:2 B8
37 |[HRA 2B H26.10. 10 0.4 0.30 0.10 38 8 8 < < - - 10 55 2,100 6,500|t2 B8
38 |kE/ AT 2B H26.10.7 0.54 0.80 0.10 37 5 5 < < - - 7 51 6, 400 20,000{f2E 8
39 |[=HRA 2B H26.10. 2 0.05 0. 60 0.10 65 5 4 < < - - - - - -[EEEE RERA
40 | XFEi5E EET H26.10. 9 0.54 0.40 0.10 10 8 7 < < - - 11 52 2,100 6,600[t2E 8
M |FEZ EET H26.10.9 0.46 0.50 0.10 43 4 5 < < - - 8 29 250 840[FEE R
42 |&EHA EET H26.10.9 0.54 0.40 0.10 7 30 38 < < - - 1 64 1, 800 5, 500|f2 B8
43 [/hith ;3 2B H26. 10. 10 0.39 0.40 0.10] 60LLiE 5 7 < < - - 0 65 1,500 4,700[EE 8
44 | FRIxEB EET H26.10. 10 0.31 0.50 0.10 15 42 8 < < - - 0 52 660 L100[{EE 8
45 [BE5E EET H26. 10. 7 0.39 0.80 0.10 21 20 4 < < - - 8 55 390 L200[EE R
46 [FEEAE EET H26. 10. 8 0. 36 0. 60 0.10 90 16 5 < < - - 6 59 3, 500 11,000[42 B &
47 |BRAE EET H26.10.5 0.36 0.80 0.10 68 3 2 < < - - 6 64 3, 300 10,000[42 B &
48 [Iho#:E (1) EET H26.10. 7 0.31 0. 60 0.10 5 16 14 < < - - 7 59 3, 000 9,300| 2B 8
49 [Ih#:E (2) EET™ H26.10. 7 0.32 0.60 0.10 8 9 10 < < - - 5 78 9, 700 30,000{f2E 8
50 |[IEXHMEZM) EET H26. 10. 5 0.24 0.80 0.10 55 6 8 < < - - 6 58 1,100 3,300| 2B 8
51 |[IEXEZ(Q EETH H26.10.5 0.31 0.50 0.10 34 19 27 < < - - 5 60 920 2,800|2 B8
52 ¥/ RiiA EET H26.10.4 0.29 0.80 0.10] 60LiE 3 1 < < - - 6 65 1, 300 4,100[EE 8
53 |HEHGE EET H26. 10. 5 0.35 0.80 0.10 7 3 4 < < - - 6 69 3, 400 10,000[42 B &
54 [HIiRE EET™ H26.10.5 0.12 0.80 0.10 8 1 2 < < - - 6 35 400 1,200 B8
55 |Fa#iA EET™ H26. 10. 4 0.77 0.50 0.10 63 9 9 < < - - 2 43 1, 300 3,900/ 2B 8
56 [#7%:A 2B H26. 10. 4 0.79 0.50 0.10 11 5 5 < < - - 8 63 9, 600 30,000{f2E 8
51 [&8:Z ZEmH H26. 10. 4 0.73 0.40 0.10 70 7 8 < < - - 10 53 4,000 12,000[42 B8
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58 [lEHE:Z 28T H26.10.3 ) 0.98 0.80 0.10 88 5 3 < <1 - - 10 67 19, 000 57,000[f2E 8
59 [#RIUB 28T H26.10. 3 = 0.92 0.70 0.10 95 5 3 < <1 - - 7 64 7,800 24,000(f2 B8
60 [;B/ Ei& 28T H26. 10. 8 & 0.36 0.50 0.10 52 11 9 < 1 <1 <1 10 66 27,000 83,000(f2E 8
61 [HIR:Z 28T H26. 10. 8 & 0.38 0.50 0.10 61 9 7 < < - - 6 32 5,100 16,0002 88
62 [lh/ AB) 28T H26.10.8 | fREE 0.30 0.50 0.10 60LLE 7 4 < < - - 12 59 4,100 13,0002 B8
63 [lL/ ABQ) 28T H26.10.8 | fREE 0.31 0. 60 0.10 60LLE 9 7 < < - - 9 71 3,200 9,800|f2 B8
64 |RAXWE 28T H26. 10. 4 0.86 0.70 0.10 86 4 3 < < - - 4 63 9,200 29, 000(f2E 8
65 |[#MREEB 2EmH H26. 10. 4 0.78 0.40 0.10 85 1 12 < < - - 5 65 6, 800 21,000(f2E 8
66 [f/ AB 28T H26. 10. 4 0.46 0.50 0.10 44 13 9 < < - - 7 60 6, 300 20,000(f2E 8
67 |=i@tiZ 28T H26. 10. 4 1.06 0.60 0.10 60LLE 6 3 < < - - 9 65 2,700 8,300|f2 B8
68 |&F/ O8LB 28T H26. 10. 7 0.37 0.80 0.10 25 15 15 < < - - 5 69 16, 000 49, 000| 2B 8
69 [1RiB 28T H26. 10. 2 0.22 0.80 0.10 17 47 4 < < - - 3 60 990 3,000|2 B8
10 |=BEFE 28T H26.10.4 0.31 0.80 0.10 78 8 1 < < - - 7 60 6, 800 21,000(f2E 8
| HiR:E 2EmH H26.6. 18 0.39 0.70 0.10 55 9 9 < < - - 8 58 , 900 5 500|f2 B8
72 IMNFEBBQ) B2EmH H26.6. 18 = 0.23 0.80 0.10 50 11 14 < < - - 9 56 , 500 4,400[42B 8
13 'MNFEEBA) 2EmH H26.6. 18 ) 0.24 0.80 0.10 60LLE 5 4 < < - - 8 55 2, 600 1,200/ 2B 8
74 |3RHAE B2EmH H26.6. 18 ) 0.18 0.90 0.10 21 34 33 < < - - 9 57 1,700 4,800[42B 8
15 | = A 2EmH H26.6. 18 = 0.27 0.60 0.10 3 39 61 < < - - 9 46 970 2,800|f2 B8
THEZFA0) 2EmH H26.6. 18 & 0.26 0.50 0.10 8 27 57 < < - - 9 61 3, 800 11,0002 B8
11 [ B/ BB 2EmH H26.6. 18 ) 0.36 0.70 0.10 48 14 19 < < - - 8 49 740 2, 100|f2 B8
18 [FE#hAB 2EmH H26.6. 18 =5 0.41 0.50 0.10 63 6 6 < < - - 4 58 1, 800 5 100|{2B 8
19 [£1F:8 2EmH H26.6.17 & 0.23 0.80 0.10 60LLE 1 0 < < - - 6 48 3,500 10,000[42 B8
80 [JtE:Z 2EmH H26.6.17 & 0.29 0.50 0.10 16 19 15 < < - - 5 42 990 2,800|f2 B8
81 [MBF0:E 2EmH H26.6.17 & 0.50 0.80 0.10 60LLE 1 0 < < - - 10 58 4,300 12,0002 B8
82 |B1EZ B2EmH H26.6.17 & 0.40 0.50 0.10 60LLE 2 1 < < - - 8 57 3, 400 9,800|f2 B8
83 |ihRiAB 2EmH H26.6.17 & 0.42 1.20 0.50 55 7 6 < < - - 7 52 2, 800 8, 100|:2 B8
84 |i#sH;AE 2EmH H26.6. 18 ) 0.58 0.60 0.10 50 8 9 < < - - 10 57 3,800 11,0002 B8
85 |$tARF:Z 2ETH H26.6. 18 = 0.56 1.40 0.50 30 17 14 < < - - 10 60 3,200 9,200|f2 B8
86 |Ni#AHA 2B H26.6. 18 =B 0.54 0.50 0.10 53 7 10 < < - - 7 65 2,400 6,900/ 2B 8
87 |®hEHE (D 28T H26.6. 16 & 0.52 0.50 0.10 60LLE 3 1 < < - - 10 59 3,200 9, 100|2 B8
88 |#ITF1HiZ (2 2B H26.6. 16 & 0.47 0.80 0.10 60l E 2 2 < < - - 5 56 5,700 16,000[42 B &
89 B/ & ZEmH H26.6. 16 [ 0.51 0. 60 0.10 63 4 4 < < - - 10 68 13, 000 38,000(f2E 8
90 [Fi8 2B H26.6. 19 & 0.47 0. 60 0.10 45 8 8 < < - - 8 6 4,100 2,000/2E 8
91 |Ef/ ANiE [ =n H26.6. 17 & 0.53 0.80 0.10 44 10 10 < < - - 8 6 6, 500 8,000|i2 B8
92 |E/ KB 2B H26.6. 17 & 0.51 0.80 0.10 71 4 12 < < - - 6 70 5,400 5, 000[f2 B8
93 |EHN;Z [ =n H26.6. 17 & 0.56 0.80 0.10 67 4 4 < < - - 10 81 200 120[&2E 8
94 |Z&iEA 2B H26.6. 17 & 0.56 0. 60 0.10 67 6 5 < < - - 3 55 1,500 4,400[42B 8
95 |1/ 18 2B H26.6. 17 [ 0.51 1.10 0.50 65 7 7 < < - - 8 64 6, 400 19,000[42 B &
96 [1L#%:A 2B H26.6. 17 & 0.49 0.70 0.10 45 4 3 < < - - 4 25 170 410|2 B8
97 [JRET:H ZEmH H26.6. 16 & 0.53 0. 60 0.10 31 5 2 < < - - 6 43 4,200 12,000[42 B &
98 |BkiA:E ZEmH H26.6. 16 & 0.54 0. 60 0.10 28 5 3 < < - - 8 39 2,000 5, 800|f2 B8
99 |HE:E ZE™H H26.6. 17 55 0.50 0.80 0.10 30 0 8 < < - - 8 37 , 700 4,900[42B 8
00 |E¥F;B ZEmH H26.6. 17 [ 0.62 0.80 0.10 60l E 3 < < - - 3 25 2,200 6,400[2EE
01 |#8/ K{E:Z ZEmH H26.6.17 [ 0.54 0.70 0.10 3] 1 8 < < - - 3 66 2,400 1,200/f2 B8
02 [XEFA 2ETH H26. 8. 28 B 0.58 3.85 0.50 40 5 10 < < - - 10 62 3,400 10, 000 HILEBF
0.50 60LLE 4 6 < < - - SBDEIIZHIFTEK
103 |&& BmET H26.8.7 B 0.26 3.30 1.65 45 5 10 <1 <1 - - 8 49 3, 600 10, 000 (AL RS
2.70 53 7 11 <1 <1 - -




iK1 T2 6 FEEBETRENDLOMBAELRE (RILHXK)

KEREREE EEAERE
No. % HER | MER | K [ TURE| enm kg BWE | OBE | SS oLl Lt BRE | oy iE Xk =
w2y T (em | (B (me/L) Ba/L) (Ba/L) RS | 6 (Ba/ke)
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04 [R3E;B N H26.10. 10 & 0.39 0.50 0.10] 60LLE 3 3 < < - - 12 60 4,500 14, 000[{E 58
05 | Kidih — AT H26. 10. 11 & 0.53 0. 60 0.10 20 17 18 < < - - 10 52 3, 500 11, 000[{E 58
06 [—&K = NN H26.10. 10 & 0.32 0.50 0.10 88 10 13 < < - - 8 55 1,300 4,300[EE 8
07 [ithad A — AT H26. 10. HREE 0. 60 0.50 0.10 10 6 4 < < - - 5 44 2,200 6, 900[{EE 8
08 |7l — AT H26. 10. HREE 0.63 0.40 0.10 18 28 26 < < - - 8 47 2,100 6, 100[{EEE
09 [XIFEYE — AT H26. 10. HREE 0.64 0.40 0.10 22 20 24 < < - - 8 66 4, 800 15, 000[{E 58
0 |KRA&E — AT H26. 10. HREE 0.62 0. 60 0.10 25 15 15 < < - - 0 61 4,900 15, 000[{E 58
1 [§k;8 = NN H26. 10. 10 & 0.25 0.50 0.10 18 32 45 < 1 <1 <1 0 56 2, 600 8, 100[{EE 8
2 | %A = NN H26. 10. 10 & 0.44 0. 60 0.10 22 2 24 < <1 - - 2 47 1, 800 5 400[{EE 8
3 |X%0 [ N N H26. 10. 9 & 0.20 4.20 0.50] 60LLE <1 < <1 - - 2 81 220 610[{EE R
4 |pEBEA —ANTH H26.10.9 & 0. 61 0.80 0.10 13 52 57 < 2 <1 <1 3 48 2, 400 1,800[fEE R
5 [t —AWTH H26.10.9 & 0. 65 1.90 0.50 44 14 8 < 1 <1 <1 0 42 14, 000 45, 000[{EE 8
6 [BiR — AT H26. 10. 11| ‘REE 0.91 0.40 0.10 25 8 8 < < - - 3 64 12, 000 37,000| 2B 8
11458 — AT H26. 10. 10 & 0.52 0.40 0.10 32 19 16 < < - - 10 38 1, 600 5 000[{EE 8
8 3HFHN — AT H26. 10. 10 & 0.4 0.40 0.10 53 36 33 < < - - 10 49 730 2, 400[fEE 8
I |5F2% [ N N H26. 10. 9 & 0.6 0.50 0.10 24 32 48 1 3 <1 <1 9 54 4, 800 15, 000[{E B8
20 |y B — AT H26.10.9 & 0.6 0.40 0.10 42 22 3 < < - - 5 26 400 1,300/ 228
21 [ £/ Aith [ N N H26.10.9 & 1.15 0.50 0.10 18 36 4 < < - - 10 38 1, 400 4,500[E8 8
22 [mfE [ N N H26.10. 11 RAF 0.87 0.30 0.10 58 10 13 < < - - 5 38 2,700 8, 300[{EE R
23 [BRIEih . N N H26.10.9 & 0.58 0.40 0.10 73 14 12 < < - - 8 66 2,900 8, 900[{EE R
24 |[EH L [ N N H26.10.9 & 0.32 18. 20 0.50 60LLE 3 1 < < - - 8 61 560 1,800/ 28
25 [KiR#A . N NG H26. 10. 10 & 0.16 0.58 0.10] 60LLE 2 2 < < - - 6 43 1,700 5, 200[{EE 8
26 [LL/ AF L — AT H26.10. 10 & 0.40 0.50 0.10] 60LLE 2 3 < < - - 3 33 1, 300 4,000[EE 8
2] |[£E8 = NN H26.10. 10 & 0.36 .10 0.50 37 19 30 < < - - 2 58 2, 800 8, 900[{EE R
2w/ A (2) — AT H26. 10. 10 & 0.50 .30 0.50 33 16 15 < < - - 2 56 , 000 3, 200288
2 |88/ H (1) — AT H26. 10. 11| ‘REE 0.51 0. 60 0.10 2 25 32 < 2 <1 <1 2 43 , 100 3, 300[{EE 8
30 [Frik (1) . NN H26.10. 10 & 0.43 1.00 0.10 3 17 15 < < - - 2 37 930 2,900[fEE 8
31 |=kHE [ NN H26. 10. g 0.46 0.30 0.10 18 32 28 < < - - 6 55 1,900 6, 000[{EE 8
32 |4l (2) = XN H26. 10. REE 0.48 0. 60 0.10 68 5 6 < < - - 8 62 690 2,200|[2E 8
33 |EHEA . NN H26. 10. R 0.45 0.70 0.10 15 54 61 < < - - 8 23 250 160[fEE R
34 |BF . NN H26. 10. R 0.49 0.50 0.10] 60LiE 8 7 < < - - 8 59 7,500 24,000(f2E 8
35 | E{# . NN H26. 10. R 0.41 0.30 0.10 20 110 120 1 4 <1 <1 10 45 1,900 5,900[2E 8
36 | KEF . NN H26. 10. R 0.64 0.80 0.10 42 5 0 < < - - 9 66 4,200 2,000[EE R
37 | B — At H26. 10. R 0. 61 0.90 0.10 19 4 < < - - 6 62 4,100 3, 000[EE R
38 | KiE = NN H26. 10. REE 0.57 0.30 0.10 5 2 < < - - 7 70 11,000 34,000(f2E 8
39 [KithEH AT H26. 10. R 0.62 1.00 0.10 4 6 8 < < - - 2 32 630 2,000/ 8
40 14/ & = NN H26. 10. R 0.56 0.40 0.10 26 2 34 < < - - 3 55 4,100 13,000[42 B &
41 [dk/ A . NN H26. 10. R 0.55 0.90 0.10] 60LiE 3 4 < < - - 7 14 4,600 15,000[42 B &
42 |4 — ARt H26. 10. 10 & 0.36 0.50 0.10 36 3 40 < < - - 4 53 2,700 8, 400[EE R
43 |F#E . NN H26. 10. 10 & 0.34 0. 60 0.10 35 11 < < - - 6 40 450 1,400{f2E 8
4 [FEEA 1 . NN H26.10. 10 & 0.42 1.50 0.50 32 0 8 < < - - 9 57 980 3, 000[fEE R
45| E/RH . NN H26. 10. 10 & 0.36 0. 60 0.10 45 2 18 < < - - 5 40 220 670[fEE R
46 | B & = NN H26. 10. 10 & 0. 65 0. 60 0.10 88 4 4 < < - - 10 7 13, 000 40,000[2 B8
47 ) — At H26.10. 10 & 0.46 1.20 0.50 65 7 4 < < - - 3 3 , 300 4,300[EE 8
48 |BE = NN H26.10. 10 & 0.48 0.50 0.10 9 5 9 < < - - 4 56 , 600 5, 100[{2 B8
49 |Ei5 — At H26. 10. 11| ‘REE 0.41 0.90 0.10 7 3 3 < < - - 10 73 3, 500 11,000[42 B &
50 [INAE 3 Nl H26. 10. 9 & 0. 60 0.30 0.10 38 13 33 < < - - 10 83 1, 300 4,100[EE 8
51 |BA& . NN H26.10.9 & 0.49 0.80 0.10 8 33 52 < < - - 8 5 2, 800 8,600/2EE
52 |ERIB AT H26.10. 10 & 0.38 0.25 0.10 8 16 110 < 2 <1 <1 3 4 1,500 4,600[42B 2
53 [ithim = XN H26.6. 12 551 0.35 0. 60 0.10 33 14 19 < <1 - - 5 58 3, 500 10,000[42 B &
54 |B/ A . NN H26.6. 12 [55] 0.72 0.50 0.10 65 9 5 < <1 - - 9 71 12, 000 31,000{f2E 8
55 |flih A AT H26.6.13 & 0.74 0.50 0.10 25 100 100 < 3 <1 <1 5 36 690 ,000[{EE 8
56 |/ AR . NN H26.6. 12 [58] 0.75 0. 60 0.10 45 4 2 < < - - 3 60 5, 700 16,000[42 B &
57 [9\W3T = XN H26.6. 13 [ 0.48 0.40 0.10 25 4 3 < < - - 4 34 2, 400 6,500[2E 8
58 [BFE N — At H26.6. 12 551 0.43 0.50 0.10 40 ] 7 < < - - 7 57 4,500 12,000[42 B &
59 (B2 (FHAB) = XN H26.6. 12 55 0.47 0.70 0.10 50 6 9 < < - - 4 60 3, 300 9,200[2 B8
60 [F;3 — At H26.6.12 ) 0.59 0.40 0.10] 60LiE 5 4 < < - - 3 30 440 1,200/ 28
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61 [ ME — R H26.6. 11 = 0.39 0.60 0.10 33 16 15 < < - - 4 23 440 1,300/ 52

62 |18 — R H26. 6. 12 55 0.58 0.40 0.10 14 45 2 < < - - 2 25 1,100 3. 000285

63 [JLm — R H26. 6. 11 = 0.46 0.50 0.10] 60LLE 2 < < - - 6 50 4,000 11,0002 B8

64 |§8% it . Nt H26. 6. 9 = 0.24 2.00 0.50 80 1 5 < < - - 3 12 990 2, 10025

65 [85R — R H26.6.9 55 0.87 0.50 0.10] 60LLE 4 4 < < - - 4 60 19, 000 53, 000(&E 52

66 |EEA — R H26. 6. 12 55l 0.51 0.50 0.10 33 20 16 < < - - 5 34 160 2, 100285

67 |78 . Nt H26. 6. 13 [ 0. 86 0.80 0.10 35 30 24 < < - - 6 24 740 2, 00025

68 [LLI{R1A . Nl H26.6. 13 [ 0. 74 0.50 0.10 45 10 8 < < - - 4 38 1,500 4,100(E 52

69 &/ N . Nl H26. 6. 12 55 0. 54 0.60 0.10 23 26 19 < < - - 5 52 3,400 9,502 B2

10 |[RBREE — Al H26. 6.9 S 0.40 0.50 0.10 33 10 16 < < - - 8 41 1,300 3, 80025

1 |@ b N Nitl H26. 6. 0.50 0.50 0.10 68 8 6 < < - - 1 42 6, 800 19, 000|252

12 | Xpa . Nl H26. 6 0.55 0.50 0.10 15 42 22 < < - - 5 51 2,400 6, 900282
JREEERS — R H26. 6 0.52 0.40 0.10 90 3 6 < < - - 4 50 2,500 1.300|2 52

74 |RH — R H26. 6. 0.59 0.40 0.10 22 21 27 < < - - 5 32 1,200 340025

75 [#l (1) — R H26. 6. ) 0.42 0.50 0.10 23 27 33 < < - - 5 4 2,700 71,6002 5

76 il / H — R H26. 6 = 0.60 0.40 0.10 53 8 8 < < - - 5 22 320 850|512
=8 (1) — R H26. 6. = 0.45 0.50 0.10 13 53 35 < 3 <1 <1 10 58 3,700 0,000{&E 52

78 [fhdk (1) — R H26. 6.9 = 0.57 0.90 0.10] 60LLE 4 1 < < - - 3 48 5,500 5 000285

19 | K% — R H26.6. 11 = 0.55 0.60 0.10 n 1 8 < < - - 6 46 3,800 1,000/ 2

80 &L — R H26. 6. 10 = 0.30 0.40 0.10/ 60LLE 2 1 < < - - 1 83 5,500 6,000[f2B &

81 | K% — R H26.6. 13 & 0.78 0.30 0.10 4 8 18 < < - - 3 65 4,000 2, 00025

82 |BEH — R H26.6. 13 [ 0.50 0.40 0.10 65 10 18 < < - - 8 28 1,300 KR EEET

83 [~ 1 . Nl H26. 6.9 = 0.43 0.50 0.10 65 1 6 < < - - 4 28 630 1,700/ 52

84 | KETE — R H26.6. 10 ) 0.49 0.50 0.10 13 8 5 < < - - 3 42 950 2, 80025

8 [FE/F — R H26.6. 10 = 0.45 1.20 0.50 27 10 16 < < - - 1 55 4,900 14, 000|252

86 |& — R H26. 6.9 = 0.39 — — - — — - - - - 8 35 840 2,300[2B 5 SRZ K AV < FRK A Al
87 |—hiN — R H26. 6. 10 = 0.72 1.40 0.50 86 1 4 < < - - 8 58 6, 400 8,000z E

88 |MH-FLU .S Nl H26. 6. 10 = 0.65 0.50 0.10 58 16 10 < < - - 1 62 5, 500 6,000[2B &

89 |H{EMHMA ZARTH H26. 6. 10 F 0.4 0.50 0.10 27 18 10 < < - - 3 57 3,900 000252

90 [kl X Nl H26. 6. 10 55l 0.5 0.90 0.10/ 60LLE 3 3 < < - - 6 42 670 . 800[E B8

o1 [ =kibh [ W66 0] & | 04 [ [ - - - - T o[ [ 7100 7.00mek  [HABKAERALT
2 [B/A ;3 Nl H26. 6. 10 ) 0.6 0.60 0.10 39 1 3 < < - - 4 39 71,200 20,000[2 52

93 [FAR N Nitl H26.8. 7 [ 0.2 1.50 0.50/ 60LLE 3 5 < < - - 5 24 280 850| L 2 /5
94 ;B X Nl H26. 8. 28 S 0.65 0. 06 0.06/ 60LLE 5 5 < < - - 5 46 60 560[ L BB/




iK1 T2 6 FEEBETRENDLOMBAELRE (RILHXK)

KEBIERER EERERR
No. % mEre | EER | K& | ZROE| exg mkz BWE O BE SS i v BR | ak= e ES 2 %
WS Ay )| Gem | (®) | (mg/L) Ba/L) Ba/L) RS | 6 (Ba/ke)
134CS 13708 134CS 13708 134CS 13708

95 |ERi5iR FEH H26. 0.19 0.40 0.10 45 8 6 <1 <1 - - 4 48 740 2,400[1EE 2
96 |#RE FEH H26. 0.27 - - - - - - - - - 5 46 850 2,600[EE 2 SAE KA EE FRKA AT
97 [£:& FEH H26. 0.23 0.50 0.10 50 7 5 < < - - 4 61 800 2,800[EE 2
98 |t FEH H26. 0.20 0.50 0.10 80 9 8 < < - - 4 39 830 2,900[E 52
99 [#0HEHLL FEH H26. 0.21 0. 60 0.10 51 7 6 < < - - 0 51 1, 400 4700|288
200 |5 FEH H26. 0.19 0.90 0.10 37 10 12 < < - - 0 63 1,200 4000|288
201 | % FEH H26. 0.21 0.80 0.10/ 60LLE 3 3 < < - - 0 64 2,800 9, 100[1EE 2
202 [$24h FEH H26. 0.22 0. 60 0.10 66 8 8 < < - - 0 68 4,400 15, 000[1E 52
203 [& FEH H26. 0.22 0.70 0.10 46 9 7 < < - - 0 62 1,400 4700|288
204 |BilR FEH H26. 0.24 0.80 0.10 53 6 8 < < - - 0 58 1,500 4800|288
205 [hZE FEH H26. 0.27 0.80 0.10 51 6 6 < < - - 0 67 2,700 9,200[1E 52
206 [BEAK FEH H26. 0.06 - - - - - - - - - 5 28 30 100[E 52 SRAE KA VEE < FRKA AT
207 | Skt FEH H26. 0.25 0. 60 0.10 80 3 3 < < - - 8 46 800 2,500[E 52
208 |ILIEAA FEH H26. 0.21 0.50 0.10 62 10 8 < < - - 4 36 620 2,000[EE 2
209 |xX_ bl FEH H26. 0.27 0. 60 0.10 60 8 6 < < - - 6 43 2,000 6,500[1E 52
210 |iZRy FEH H26. 0.42 - - - - - - - - - 5 42 460 1,500[2 B8 SAE KA EE < FRKA AT
211 |REw=1 FET H26. 0.2 0. 60 0.10 26 6 18 < < - - 0 65 1,800 5 800[1EE 2
212 |hEmE?2 FET H26. 0.2 0.40 0.10 22 3 23 < < - - 0 37 410 400|218
213 [4Ti#% FEH H26. 0.16 0.90 0.10 36 2 12 < < - - 0 39 330 100|288
214 |8 FEH H26. 0.19 0.50 0.10 46 1 11 < < - - 0 51 1,200 3, 7100[{EE 2
215 |k FEH H26. 0.23 3.40 0.50 83 5 5 < < - - 0 63 2,600 8, 100[{E 52
216 [#RK FEH H26. 0.2 0. 60 0.10 32 9 8 < < - - 0 59 1, 300 4, 400|288
217 [k FEH H26. 0.2 2.50 0.50 39 10 8 < < - - 5 41 380 1,202 B2
218 [FAH FEH H26. 0.23 0.70 0.10 44 10 9 < < - - 5 36 2170 860|282
219 [#IR FEH H26. 0.20 0. 60 0.10 36 9 1 < < - - 8 54 1,800 6,000[1EE 2
220 | i@ FEH H26. 0.22 0.80 0.10 15 20 24 < < - - 6 11 1,800 5 900[1E 52
221 |2 FEH H26. 0.35 0.50 0.10/ 60LLE 11 9 < < - - 6 38 130 420[12 88
222 |3 FET H26. 0.32 0. 60 0.10/ 60LLE 4 2 < < - - 4 50 1,200 3,800[1EE 2
223 (R b2 FEH H26. 0.24 0. 60 0.10 90 7 6 < < - - 4 59 1,300 4,300|©2 818
224 (X EL3 FEH H26. 0.27 0. 60 0.10 62 4 3 < < - - 6 68 2,300 7,700[1E5 2
225 |5 & FEH H26. 0. 0.40 0.10 69 4 3 < < - - 5 64 3,000 9,600[1E& 2
226 [:FKT FEH H26. 0. 1.80 0.50 88 4 5 < < - - 6 62 1,100 3, 700[1E& 2
227 |52 FEH H26. 0. 0.80 0.10 5 1 5 < < - - 10 52 1,000 3,300[1E& 2
228 |1 Eh2 FEH H26. 0. 0.90 0.10 7 8 6 < < - - 8 47 30 440|188
229 [$&%k3 FEH H26. 0.23 0. 60 0.10 80 3 4 < < - - 10 66 1,100 3,400[1E5 2
230 [A/ A FEH H26. 0.33 0.50 0.10 30 18 23 < < - - 9 60 1,200 3,600[1E5 2
21 [BO* FEH H26. 0.32 0.50 0.10 55 8 9 < < - - 10 51 830 2,600[E52
232 | FEH H26. 11. 0.30 0.40 0.10 12 31 28 < < - - 6 60 2,200 7,000[E5 2
233 |i& FEH H26. 11. 0.15 0.50 0.10 50 69 85 < < - - 9 33 850 2,900[E5 2
234 [/ A FEH H26. 11. 0.26 0.70 0.10 2 8 < < - - 10 60 1,500 5 100[E &2
235 [A/ A FEH H26.11.19| & 0.50 0. 60 0.10 8 9 < < - - 10 63 3,800 12,000{E 52
236 | KB REH H26.11.18 & 0.42 0.50 0.10 7 0 2 < < - - 9 51 2,400 7,800[E5 2
237 [FAK FEH H26.11.19 & 0.83 0.50 0.10/ 60LLE 3 3 < < - - 10 53 6, 700 22, 000|282
238 |ilE REH H26.11.18 B 0.81 0.36 0.10 45 7 7 < < - - 6 63 10, 000 32, 000|282
239 [#h~ & REH H26.11.18| & 0.47 0.36 0.10/ 60LLE 2 1 < < - - 5 47 6, 200 0, 000|258
240 |7KE FEH H26.11.19 & 1.00 0.50 0.10 37 9 10 < < - - 10 51 6,100 0, 000|258
241 [/ A REH H26.11.19 & 0.52 0.40 0.10 84 9 6 < < - - 5 59 6, 500 1,000[2 88
242 (BN FEH H26.11.18 & 0.80 0.30 0.10 45 8 7 < < - - 7 42 3,000 9, 700[1E &2
243 | X2 REH H26.11.18 & 0.76 0. 65 0.10 40 9 7 < < - - 4 44 4,000 13, 000|252
244 [#RIR REH H26.11.18| & 0.4 0.56 0.10/ 60LLE 2 2 < < - - 4 52 3,400 11, 000|152
245 |5F REH H26.11.18 & 0.2 0.45 0.10 42 6 7 < < - - ] 48 1,500 5 200[1E& 2
246 [HMA REH H26.11.19 & 0.43 0. 60 0.10 30 16 3 < < - - 10 30 1,100 3,500[1E& 2
247 [B/ R REH H26.11.19 & 0.30 0. 60 0.10 37 11 3 < < - - 4 26 420 1,400[2 82
248 |&; FEH H26.11.18 & 0.49 0.50 0.10 30 9 0 < < - - 9 52 4,400 14,000{E 52
249 |48 REH H26.11.19 & 0.23 0.20 0.10 5 110 100 < 3 <1 <1 5 4 820 2,500[E 52
250 [AM REH H26.11.19| & 0.45 0.50 0.10/ 60LLE 2 1 < <1 - - 7 9 1,000 3,200[1E5 2
251 [ER REH H26.11.18] & 0.95 0.30 0.10 42 6 6 < <1 - - 6 55 6, 000 20, 000|282




A1 T2 e FEMHEIERRENADI-OMBAETHERE (BILHX)
KEREREE EEAERE
No. % HER | MER | K [ TURE| enm kg BWE | OBE | SS oLl Lt BRE | oy iE Xk =
w2y T (em | (B (me/L) Ba/L) (Ba/L) RS | 6 (Ba/ke)
134CS IS?CS 134CS IS?CS 134CS IS?CS
252 [IhOR FEH H26.11.17 &5 1.15 0.30 0.10] 60LLE 2 6 < < - 10 56 7,800 25, 000|218
253 [HEAS FEH H26.11.18 & 0.75 0.30 0.10 82 3 3 < < - 8 56 4,200 13, 000[{E 58
254 |FRE FEH H26.11.18 & .02 0.53 0.10 74 4 4 < < - 6 40 500 1, 7100|218
255 [&E FEH H26.11.19 [ .04 0.50 0.10] 60LLE 2 1 < < - 6 64 10, 000 32, 000|218
256 [BLA FEm H26.11.19] = 0.87 - - - - - - - - 5 52 2,100 6.800[ 5B BB KA KR
257 |FABA FEH H26.11.18 g 0.62 0.50 0.10 45 9 8 < < - 10 59 5, 700 19, 000[{E 58
258 |ZH/ A FEH H26. 11. 21 0.43 0.70 0.10 34 0 9 < < - 4 54 2,700 8, 900[{EE R
259 [EN.ER FEH H26.11.18 0.70 0.60 0.10 40 0 8 < < - 10 67 8, 000 26,000| 2B 8
260 [ENTA FEH H26.11.18 0.59 1.50 0.50 22 6 12 < < - 10 64 4,500 15, 000[{E &8
261 [iR7KiE FEH H26.11.18 1.09 0.60 0.10 43 6 6 < < - 8 69 13, 000 41,0002 8
262 [AEFEE FEH H26.11.18 0.62 0.60 0.10] 60LLE 5 5 < < - 9 61 4, 400 14, 000[{EE 8
263 (B DBE FEH H26.11.15 0.57 0.80 0.10 28 8 6 < < - 7 24 1, 800 5, 800[{EE R
264 [AAAB FEH H26.11.15 0.78 0.70 0.10 63 10 14 < < - 8 57 5,200 17,000[{E 58
265 |8 FEH H26.11.17 0.94 0.40 0.10 25 6 4 < < - 7 59 8, 300 27,000| 2B 8
266 |H ./ A8 FEH H26.11.17 0.96 0.30 0.10 32 9 8 < < - 10 12 7,900 26,000| 2B 8
267 [{ B~ A8 FEH H26.11.18 0. 60 0.50 0.10 60 10 8 < < - 7 61 7,900 26,000| 2B 8
268 [ AERE FEH H26. 11. 21 0.17 0.50 0.10] 60LLE 3 2 < < - 4 53 2, 800 9, 200258
269 [HRTiB FEH H26. 11. 20 0.54 0.50 0.10 37 16 10 < < - 10 52 4,700 15, 000[{E B8
270 [HR LB FEH H26. 11. 20 0.24 0.50 0.10 64 13 8 < < - 6 37 2, 400 8, 000[{EE R
271 |HRF;3 FEH H26. 11. 20 0.59 0.70 0.10 30 20 17 < < - 8 51 2, 800 9, 200[fEE 8
212 |HRTF B FEH H26. 11. 20 0.58 0.50 0.10 45 10 7 < < - 5 62 4, 300 15, 000[{E B8
213 [RA FEH H26.11.18 0.52 0.50 0.10 38 11 12 < < - 6 51 4,100 13, 000[{E B8
214 | ¥/ AL FEH H26.11.19 0.52 0.60 0.10] 60LLE 9 6 < < - 5 62 6, 700 22,000| 2B 8
275 [FR3R:E FEH H26. 11. 20 0.27 0.50 0.10 45 9 11 < < - 10 67 3,500 1,000/ 28
276 |tf@¥F2iE FEH H26. 11. 20 0.52 0.50 0.10 60 9 7 < < - 9 65 4, 300 4,000[EE 8
271 |t8¥ 38 FEH H26. 11. 20 0.50 0.50 0.10 34 12 16 < < - 9 67 4,500 4,000[EE 8
278 |t F4iE FEH H26. 11. 20 0.50 0.50 0.10 89 5 5 < < - 8 75 14, 000 44,0002 8
279 [/ RiB FET H26.11.17 1.22 0.60 0.10] 60LlE 7 9 < < - 8 65 12, 000 39,000| 2B 8
280 |#EK:E FEmh H26.11.18 0.59 0.50 0.10 45 14 11 < < - 9 35 2,400 7,900[EE 8
281 KT FEmh H26. 11. 20 0.43 0. 60 0.10 35 9 13 < < - 9 65 1, 400 4,100[EE 8
282 |HRE FEmh H26. 11. 20 0.29 0.40 0.10] 60LiE < < - 6 69 3, 700 12,000[42 B &
283 [\KFiF FEmh H26.11.18 0.72 0.40 0.10] 60LiE < < - 4 66 6, 500 21,000{f2E 8
284 [EEZEZ FEmh H26.11. 15 1.38 0.70 0.10 96 4 3 < < - 8 56 14, 000 44,000[2 B8
285 %2 F 18 FEmh H26. 11. 20 0.44 0.50 0.10 12 9 8 < < - 4 47 1,500 4,900[42B 8
286 |EER FEmh H26.11.17 & 0. 44 0.50 0.10 30 14 1 < < - 10 49 2,200 7,000[EE 8
287 [=#F FEmh H26.11.15 = 0. 38 0.50 0.10 52 15 2 < < - 3 26 160 540[fEE R
288 [#EN FEmh H26.11.17 [ 0.71 0.50 0.10] 60LiE 4 3 < < - 4 64 7,600 24,000(f2E 8
289 [(HEEHAK FEmh H26.11.15 55 0.48 0. 60 0.10 78 8 9 < < - 10 49 3, 600 11,000[42 B &
290 [K¥F FEmh H26.11.17 ) 0.83 0. 60 0.10 68 6 5 < < - 6 58 2,700 9,100|2 B8
291 iBEH/ A FEH H26.11.17 [ 0.53 0.50 0.10 93 4 3 < < - 6 30 470 1,500{f2E 8
292 |18 FEmHh H26.11.15 B 0.49 0. 60 0.10 20 15 20 < < - 10 61 4, 400 4,000[{2E 8
293 3R T (1) FEH H26.11.17 [ 0.83 0.50 0.10] 60LLiE 5 5 < < - 9 58 5, 300 7,000[EE 8
294 |F/RE FEmHh H26.11.17 [ 0.85 0.40 0.10 70 4 2 < < - 8 57 12, 000 38,000{f2E 8
295 | E/ N REH H26.11.17 [ 0.69 0.50 0.10 85 6 5 < < - 6 8 14, 000 45, 000|218
296 |7&/ A% FEH H26.11.17 [ 0.85 0.50 0.10] 60LLi.E 2 5 < < - 7 6 6, 600 21,000| 2B 8
297 [/ A FEH H26.11.17 [ 0.89 0. 60 0.10 38 9 15 < < - 9 56 6, 600 22, 000{f2E 8
298 |nBfE FEmHh H26.11.17 [ 0.84 0.40 0.10 90 5 4 < < - 6 56 2,900 9,300[2E 8
299 )R/ B FEmHh H26.11.15 B 0.47 0.50 0.10 43 18 13 < < - 10 54 110 350[fEE R
300 |#&4H FEmHh H26.11.15 [ 0.67 0.50 0.10 74 11 8 < < - 9 66 2, 400 8,200[t2E 8
301 [&ih FEmHh H26.11.15 5 0.57 0.50 0.10] 60Li.E 5 4 < < - 10 68 4,900 15,000[42 B &
302 |[HDE FEmHh H26.11.15 ) 0.21 0. 60 0.10] 60LiE 4 2 < < - 10 5 1,100 3, 600[{EE R
303 |2/ K FEmHh H26.11.15 ) 0.64 0.50 0.10 59 9 7 < < - 9 3 560 1,800{f2E 8
304 |FaRR REH H26.11.17 [ 0.53 0.40 0.10] 60Li.E 3 2 < < - 8 3 590 1,800/ 2B 8




Bl T2 6 FERMBIETXENDOL-OMAERR (BILHX)
KEAERE EEAARE
No. & B mETR | MER | KR | TRV 2kR | AR BWE OBE SsS i i HR | ak=s e EQIEST %
Gy ) (em | (@) g/l Ba/L) Ba/L) RS | 6 (Ba/ke)
134CS 137CS 134CS 137CS 134CS 137CS

0.50] 30 7 10 < < - - SMDES 25 1T THK
305 |;BHE Ed H26.8.28 | 2 0.31 2400 1.20 34 9 10 <1 < - - 63 | 25000 75, 000|FILEED

1.60 35 9 9 <1 < - -

0.50 18 13 1 < 4 - - SROESIZH T THRA
306 (& ihiEH fFEH H26. 8. 28 g 0.22 2.51 1.25 19 13 10 <1 <1 - - 4 37 570 1,700 AL BRBB

1.70 22 13 10 < < - -
307 [JER FEm H26. 8. 6 [ 0.43 2.30 0.50] 60LlE 6 1 < < - - 4 4 8,700 25, 000| AL 2 BUS

0.50] 60LlE 1 2 < < - - BBDFERIITHITTERK
308 |#7:B FEM H26. 8. 29 & 0.49 5.72 2.86) 60LLE 1 1 <1 <1 - - 63 23,000 70, 000| AL B BUS

4.90 34 13 19 <1 <1 - -




iK1 T2 6 FEEBETRENDLOMBAELRE (RILHXK)

KEAERE ERRAGE
No. & WAR | BER | KB | T | @kE kR | BEE BE 0 Ss = o BB | ook e R e

w2y T (em | (B (me/L) Ba/L) (Ba/L) RS | 6 (Ba/ke)

134CS 137CS 134CS 137CS 134CS 137CS

300 B/ BE/ XEm e 1T.7] & 0.10] 070 0.0 5% 9 ] 2 3 = = 7 00 1200[EEE
310 [85./ B /3 *Eh H26. 1.7 B& 0.30 | _ 060 __0.10 43 8 § < < = = 750 1,400 4. 5005658
311 (867 BT/ *Eh H26. 1.7 B& 0.21 ] 070 __0.10 48 1 2 < < = = 8] 3 770 2.500[eR
M2 B/t *Eh H26. 11.6 | F& 0.26 | _0.60__0.10,__20 7 9 < < = 12 5 800 5.800[ 255
313 (A *Eh H26. 1.7 B& 0.51 | 060 __0.10__39 4 8 < < = = 6] 53 700 5. 200[ 2%
34 [E it *Eh H26. 11.6 | B& 0.35] 080 010 74 2 1 < < = 12 46 7600 5. 000|251
315 |Gt *Eih H26. 1.7 B& 0.42 ] 0.70 _0.10] 6OLLE 5 3 < < - = 5 44 440014 0002 B8
316 |0t *Eh Ho6. 11.7 ] B& 0.40 | 0.50 _0.10 60LLE 4 3 < < - = 7 46 2.500] __ 8.300[i2B R
317 (XA *Eh H26. 1.7 B& 0.15] 050 0.0 42 23 22 < < = = i1 46 710 2.300[feBR
318 [Ean *Eh Ho6. 11.7 ] B& 0.28 | 050, _0.10] 31 20 25 < < = 10| 59 1,800 6.000568
319 [FiEt *Eih H26. 1.7 B& 0.51 | 050 _0.10___34 12 15 < < = 0] 58 2400 7.900[i2B R
320 [Kot *Eih H26. 11.6 | B& 0.26 ] 010 0.10 6OLLE 2 4 < < - = 5 34 110 360/ BB R
321 [~ *Eh H26. 11.6 | B& 0.25] 060 __0.10__ 36 E 17 < < = T 0] % 1,500 5, 000568
322 [=; *Eh H26. 1.6 | F& 0.26 | 150 _0.50 33 0 8 < < = = 4150 840 2. 800[e8
323 (Bt *Eih H26. 1.6 | B& 0.29 ] 470050 36 3 1 < < = = 8] 34 30 1.200[ee8
324 [ UL rEh H26. 17.6 | F& 0.17] 0.80__0.10 6OLLE 5 3 < < - o I O 290 CREEY
3% [Zat e H26.11.6 | F& 0.37] 080 0.10 60LLE 5 3 < < - = 7146 250 JEEEY
3% (Bt e H26. 17.6 | M | 075 070 010 _ 74 7 3 < < = = P 9,800 31.000[i2& 8
327 [ AT rEh H26. 17.8 | M | 0.34 ] 080 _0.10] 56 5 9 < < = = 466 52000 170.000[&5E
38 [SEh *Eh H26. 17.7 | F& 0.48 | 0.70 _0.10] 60LLE i 9 < < - = 943 16.000 _51.000[E5E
329 [thigt e Ho6. 117 B& 0.68 ] 0.70 _0.10 60LLE 7 4 < < - = 31 24 970] 3. 100[ B 5%
330 B/ A rEh H26. 11.6 | B& 0.72 ] 0.70 __0.10 60LLE 5 2 < < - = 61 36 1,000 3. 200588
331 [theit rEh H26. 17.6 | F& 0.25] 050 __0.10__ 48 71 13 < < = = Y 180 640[1E a8
337 [EEIEH rEh H26. 11.6 | F& 0.40 | _0.70__0.10_38 15 13 < < = = 540 510 1.700[ee8
333 [— Uit T rEh H26. 11.6 | B& 0.33] 070 __0.10___64 10 7 < < = = 3] 54 1,800 5. 80088
334 [ERt AEm H26. 1.7 B& 0.36 - - = = = - = . = 565 6,400 21.000[i2B R FEB AL KR
335 [/ =T H26. 11.6 | F& 0.22] 050 _0.10_38 5 15 4 34 = 12 46 2.300] __ 7.300[i2B R
336 [fEME /0 A= H26.17.6 | fR#E | 0.63 | 060 010 54 i 1 2 5 3 4 12 [ 45 7900 6.000[25 %
337 [fEMT /ot KEh H26.11.6 | thes | 0.3 0.60_0.10[ 52 0 g < < - = 8] 39 100 3.800[2 5%
338 |55 AEh H26.17.6 | BB 0.5 0.30_0.10[___60 8 14 < < = = 632 500 4.800[2 5%
339 |E AEh H26.17.7 ] B& 0.68 | _0.50__0.10_70 8 3 < < = = 6] 38 4,400 14000288
300 [BREAM FEh H26.11.8 | B& 0.73] 070 _0.10 32 8 9 < < = = 3 S 380 300[Ee R
341 Bt AEh H26.17.8 | B& 0.82 ] 030 010 18 8 23 < < = = 1] 5 3,300 __11.000[i288
342 [t AEh H26.11.8 | TR#E | 0.68 | 060 _0.10 54 6 9 < < = 0] 46 3.700 12,0002 88
343 [/heEst AEH H26.17.7 ] BB 0.68 | _0.50__0.10] 36 0 5 < < = = 527 420 SA00[Ee s
344 (IRt AEH H26.17.7 ] B& 0.65 | _0.30] _0.10] 21 5 4 < < = = 530 1,300 4.300/4285
345 [mt AEH H26. 1.7 B& 0.42] 050 _0.10___64 § 31 < < = = N 2300 7.500aB 8
346 (1= REh H26. 1.7 B& 0.19] 030 _0.10 4 5 8 < < = = 640 2,100 6.900[i288
347 [J\PEE T REH H26.11.8 | B& 0.66 | 060 __0.10__35 8 7 < < = = 660 3100100005658
348 [smisst AEh H26.17.7 ] B& 0.77] 020 010 28 8 il < < = = 61 39 500 4.600[2 55
349 Rt AEH 26 11.6 | &= 0.56 | 030 0.0 4 14 20 < < . = 6] 39 2,700, 8.800[i288
350 |Fa B EH H26.17.8 | Be#s | 0.58 | _0.40[__0.10 7 93 100 < i 3 4 6] 58 100 3.500[2 5%
351 [t REh H26.17.8 | M | 0.50 | __0.50] _0.10] 30 5 8 < < - = 563 4,200 13.000[i288
357 [mtat AEH H26.11.8 | thes | 0.5 0.20] _0.10[ 45 4 4 < < = = 6] 48 7900 6.200[2 5%
353 [EREAM KB H26.17.7 ] BB 0.6 0.30[ _0.10____18 9 9 < < = = 529 7900 5.900[2 5%
354 [t EH H26.17.7 ] B& 0.5 0.70_0.10[ 51 T 9 < < = = 548 2200 7.000[i288
35 |HTH rEH H26. 1.7 B& 0.68 ] 040 0.0 27 1 15 < < = = 6] 59 4,700 __15.000[i288
356 |t AEH H26. 1.7 B& 0.55] 040 __0.10 6 9 < < = = 4] 54 3,200 10.000[i2 &8
357 [ &Mt AEh H26. 1.7 B& 0.38 ] 050 _0.10 35 9 i < < = = 767 6,000 19.000[i2 &8
358 RO REh H26. 1.7 B& 0.78 ] 040 __0.10__38 § 8 < < = = 524 910] __ 3.000[2 5%
350 |[EFsth AEh 26117 &= 0.25] 040 __0.10__29 10 17 < < = = 7160 1,600 5. 3001285
360 |gB Mt REh H26. 1.7 B8 0.55 ] 040 __0.10__36 8 9 < < = = i3 1600 4.900/4285
361 [fErst AEH H26.17.6 | B& 0.49 ] _0.80__0.10] 29 i i < < = = G 3700 __12.000[i288
362 [IA st REH H26.17.6 | B& 0.55 ] _0.70__0.10 48 8 < < = = T 54 5.300 17,0002 58
363 [#ERt AEh H26.17.6 | B& 0.66 ] _0.70_0.10_8 § 5 < < = = 6] 57 3.500 _11.000[i2 &8
364 |/ AT AEh H26.17.7 ] B& 0.52 ] 030010 43 9 9 < < = = 6] 45 1700 5.500/485
365 |7t AEh H26. 1.7 B& 0.40 | 030 __0.10 24 10 12 < < = = 6] 52 1.700 5. 4004285




iK1 T2 6 FEEBETRENDLOMBAELRE (RILHXK)

KEREREE EEAERE
No. % HER | MER | K [ TURE| enm kg BWE | OBE | SS oLl Lt B sk iE Xk =
w2y T (em | (B (me/L) Ba/L) (Ba/L) RS | 6 (Ba/ke)
134CS 137CS 134CS 137CS 134CS 137CS
366 [EF ~ At A= H26.11.6 & 0.24 0.40 0.10 52 10 11 < < - - 6 70 6, 700 22, 000|218
367 (&t X H26.11.6 & 0.49 0. 60 0.10] 60LLE 2 1 < < - - 5 56 3, 600 12, 000[{E 58
368 [E& 4 igih A= H26.11.6 & 0.45 0.30 0.10 13 8 7 < < - - 7 63 5,100 16, 000[{EE 8
369 11/ {Eith A=EmH H26.11.6 & 0. 66 0.40 0.10 93 4 3 < < - - 5 75 1,100 3, 100[{EE R
370 [KAEAM AEH H26.11.6 & 0.44 0.70 0.10] 60LLE 3 2 < < - - 7 42 2,700 8, 600[{EE R
371 |BEE EN=EH H26.11.6 & 0.63 0.40 0.10 65 8 9 < < - - 4 65 4,500 14, 000[{E 58
372 |SEERIN;H Xt H26.11.6 & 0.34 0.50 0.10 28 10 10 < < - - 7 29 410 1,300/ 28
373 [&Z kK ith AEH H26.11.7 & 0.62 0.50 0.10 65 5 7 < < - - 6 50 6, 800 21,000| 2B 8
314 [ KRBFEH AEH H26. 11.8 | 1RAF 0.79 0.70 0.10 11 5 5 < < - - 6 47 6, 100 19, 000[{E 58
375 |EEmMth X H26.11.7 & 0.63 0.40 0.10 46 1 13 < < - - 5 31 1,100 3, 100[{EE R
376 [3BWhith ENENH H26.11.6 & 0.20 0.30 0.10 22 28 49 < < - - 5 47 840 2, 800[fEE R
377 |18 / &t ENENH H26.11.6 & 0.43 0.80 0.10 19 14 18 < < - - 7 42 , 100 5, 300[{EE 8
378 &1Lt Xt H26.11.6 & 0.69 0.30 0.10 30 20 18 < < - - 6 36 , 900 5, 100[{EE 8
379 [FEigith EN=H H26.11.6 & 0.44 0.40 0.10 55 3 2 < < - - 5 39 , 100 5 100[{EE 8
380 | K#th AEMH H26.11.6 & 0.36 0.40 0.10 60 9 10 < < - - 6 51 , 500 4,900[EE 8
381 [EEZith EN=H H26.11.6 & 0.25 0. 60 0.10] 60LLE 4 2 < < - - 5 62 4,500 15, 000[{E B8
382 |REFMh A= H26.11.7 & 0. 65 0.20 0.10 48 6 9 < < - - 5 42 2, 800 8, 100[{EEE
383 [3E/ Aith EN=H H26.11.7 & 0.62 0.50 0.10 48 5 7 < < - - 4 44 3, 000 9, 600[fEE R
384 |REFFRILH A= H26.11.7 & 0.71 0. 60 0.10 68 6 9 < < - - 6 55 5, 500 18, 000[{E B8
385 [FMEA:th A= H26.11.8 & 0.70 0.50 0.10 51 1 7 < < - - 3 64 5,100 16, 000[{E B8
386 [FRAEith EN=H H26.11.8 & 0. 66 0. 60 0.10 32 9 1 < < - - 4 27 960 3, 000[fEE 8
387 [/NEERt AEMH H26.11.7 & 0.34 0.30 0.10 28 1 7 < 1 <1 <1 5 68 3,000 9, 000[fEE 8
388 |F Bk ENEH H26.11.7 & 0.30 0.40 0.10 3 8 9 < 1 <1 <1 5 4 , 500 4,800[EE 8
389 |EBMA;th AEH H26. 11.8 | 1RAF 0.23 0.30 0.10 9 0 3 < < - - 7 65 11,000 36,000| 2B 8
390 [#A4 fEith A= H26.11.7 = 0.37 0.70 0.10 38 2 3 < < - - 5 76 8,900 28, 000|218
391 | = / miLith EN=H H26.11.7 & 0.53 0.40 0.10] 60LLE 1 < < - - 6 46 4,200 14, 000[{E 88
392 |HFFxith A= H26.11.6 & 0.35 0.50 0.10] 60LLE 2 < < - - 6 4 1,500 4,800[EE 8
393 |5 2 A%t EN=H H26.11.7 & 0.80 0.50 0.10 48 3 3 < < - - 6 51 2,900 9, 100[fEE R
0.50 16 7 11 < < - - SEBOFESIZHFTEK
394 |RERH AETH H26. 8. 20 B 0.69 2.80 1.40 24 5 12 <1 <1 - - 5 50 21,000 62, 000| L BB
2.30 20 9 29 <1 2 <1 <1




iK1 T2 6 FEEBETRENDLOMBAELRE (RILHXK)

KEBEER EEAEER

No. & mETH | MER | KB [ TRMY| ek® mAkR BEE BE  SS Vi vi BX |akE e

(uSv/h) N IRIKER = | Ak F] =

T ) (em | ® | me/L) (Ba) (Ba) RS | 6 (Ba/ke)

134CS 137CS 134CS 137CS 134CS 137CS

305 [FERT= it i H26.10.22] T 019 | 090 010, 30 2 8 < < - - 91 69 3100 9800/
396 [ILE;A E3idi 26 10.21] & 027 [ 050 010, 38 6 12 < < - - N L9005, 700[38
397 4¢3 E3idi 261021 W& 045 | 0.70_ 010 BOBLE 2 3 < < - - I 200 3,900[3%
398 |34 78 E3idi 2610 21] & 041 [ 050 010 6OLLE 4 5 < < - - 6] 6l L7005, 300[38
NS L3k 261021 W& 047 070010 19 17 23 < < - - N 570 1.800[%8
400 | B BT 3k 26 10.22] 020 | 0.60 01021 2 29 < < - - T 49 900" 2.800[%8
401 |7 21,2 E3idi H26.10.22] 8 0.27 [ 060 010 59 2 6 < < - ] e 780 2,500[3%
407 [FRY L E3idi H26.10.22] 0.35 | 10.00 050 92 2 7 < < - - 81 62 4700 14,0008
403 | R 2GR BB K|S 78] 1261021 036 ] 060 010 47 9 12 < < - - 61 44 4500 14,0000




iK1 T2 6 FEEBETRENDLOMBAELRE (RILHXK)

KEREHER EARERR
No. % HER | MER | K [ TURE| enm kg BWE | OBE | SS oLl Lt B sk iE Xk =
G Ty Gem | ® e B Ba/) Al I Ba/ke)
134CS 137CS 134CS 137CS 134CS 137CS

404 [f9:8 = R BT H26. 10. 20 = 0.18 0.70 0.10 65 6 8 < < - - 4 45 1, 600 5 000[fEE 8

405 (A = R BT H26. 10. 20 = 0. 60 0.50 0.10 52 5 1 < < - - 8 68 3, 800 12, 000[{E 58

406 | KR = BT H26. 10. 20 [ 0.40 0.70 0.10 90 3 5 < < - - 12 70 1, 600 5 100[{EE 8

407 | 4R B ARt = R BT H26. 10. 20 & 0.36 0.70 0.10 38 8 14 < < - - 6 62 3,100 0,000[EE 8

408 [sFILiE 1= R BT H26.10. 19 [ ‘REE 0.41 0. 60 0.10 48 6 6 < < - - 12 53 3, 400 1,000/ 2B 8

409 [R&F = R BT H26.10. 19 [ ‘REE 0.33 0. 60 0.10 93 6 6 < < - - 12 65 3,200 0,000[EE 8

410 |58 = BT H26. 10. 20 & 0.36 0.50 0.10] 60LLE 1 <1 < < - - 6 66 7,700 24, 000|218

411 [ILHH:E = BT H26. 10. 20 & 0.35 0. 60 0.10 46 6 0 < < - - 6 39 850 2, 800[fEE R

412 |#0E%:E 1 = R BT H26.10. 19 & 0.13 0.30 0.10] 60LLE 8 5 < < - - 5 30 120 30[{EER

413 "M (b) = R BT H26.10. 19 [ 0.33 0.50 0.10 30 15 1 < < - - 10 49 , 400 4,400[EE 8

414 ;@K 1= BT H26. 10. 20 = 0.09 0. 60 0.10 60 1 1 < < - - 1 47 , 300 3,800[{EE R

415 |8%E () ERE H26.10.20] & 0.27 - - - - - = - = = 5] 52 200 3. 900[=B8 A KA < BUK R o]
416 | AHE 1= R BT H26.10. 19 [ ‘REE 0.25 0.50 0.10 60 3 6 < < - - 10 62 , 900 5, 600[{EE R

417 |9 9% = R BT H26.10. 19 & 0.34 0.50 0.10 95 3 5 < < - - 10 48 460 1,500/ 2B 8

418 [JRET:E = R BT H26. 10. 2 [ 0.16 0.80 0.10 38 17 20 < < - - 9 55 1,300 4,000[EE 8

419 |ER (F) = BT H26.10. 2 & 0.23 0. 60 0.10 17 28 29 < < - - 12 54 1,200 3, 100[{EE R

420 [F L85 = BT H26.10. 2 & 0.23 0.50 0.10 54 17 24 < < - - 12 56 2,100 6, 600[{EE R

421 | EBF %R = BT H26.10. 2 & 0.26 0. 60 0.10 42 13 16 < < - - 8 57 3, 600 11, 000[{E 88

422 |FRE = BT H26. 10. 20 = 0.51 0.70 0.10 62 5 1 < < - - 1 60 5,100 16, 000[{E B8

423 |53 1= BT H26. 10. 20 = 0.25 0. 60 0.10 32 6 1 < < - - 2 62 2, 800 8, 900[{EE R

424 |BRA A = BT H26.10. 19 [ ‘REE 0.25 0.50 0.10 38 9 4 < < - - 2 60 3,100 9, 900[fEE 8

425 [#& (E) 1= BT H26. 10. 20 = 0.26 0. 60 0.10 32 10 1 < < - - 0 55 2, 400 1,600[fEE 8

426 [FAREH = BT H26.10. 19 [ ‘REE 0.19 0.50 0.10 22 18 20 < < - - 2 54 920 2, 800[fEE R




iK1 T2 6 FEEBETRENDLOMBAELRE (RILHXK)

KEAERE BERERE
e RATEMERE | ROEMERE | HATEMERRE
No. & mEre | MEE | K TR aor maom @ BE SS (23R8 (2ilk) BB |axs (FZIE) ES R %
YIS T Gem | (B | e/l (Ba) (Ba) RS o) (Ba/ke)
134CS 137CS 134CS 137CS (ClTI) 134CS 137CS
427 3R |[{RET H26.10.22( 0.37 0.70 0.10 45 7 8 < < - - 2 11 2,500 8, 200|252
428 [#AR T |[{RET H26.10.22( 0.51 0.60 0.10 31 16 19 < < - - 2 34 1,600 5 000|252
429 [EER . |[{RET H26. 10. 23 & 0.30 0.50 0.10 56 6 5 < < - - 2 60 3,400 11, 000|252
430 | EE i |[{RET H26. 10. 23 & 0.24 0. 60 0.10 88 3 3 < < - - 8 52 2,700 8, 300|252
431 | = sLiEith |[{RET H26. 10. 24 & 0.21 0. 60 0.10 18 19 23 < < - - 6 36 980 3. 200|252
432 |82/ #ith |[{RET H26. 10. 23 & 0.24 0.50 0.10 59 6 7 < < - - 10 55 880 3. 000|252
433 [iB/ Tt |[{RET H26. 10. 24 & 0.23 0. 60 0.10 35 11 14 < 2 <1 <1 7 36 690 2, 200|252
434 [l |[{RET H26.10.23| & 0.43 0. 60 0.10 50 6 8 < < - - 9 51 1,300 4,200[t2 52
435 [ K |[{RET H26. 10. 23 & 0.49 0.60 0.10] 60Ll.E 4 4 < < - - 12 10 8,600 27,0002 52
436 JBFE M |[{RET H26. 10. 23 & 0.37 0.50 0.10] 60Ll.E 3 3 < < - - 10 61 1,100 3. 300|252
BT [ TR |[{RET H26. 10. 24 & 0.33 - - - - - - - - - 5 63 6, 700 21,0002 52 SRAEEFKAEE < HRKF /]
0.50/ 60LLE 13 3 <1 <1 - - BBDFERIITHITTERK
438 [#NR Eith JIMRET H26.8.6 & 0.30 2.35 1.20 60 37 4 <1 <1 - - 5 24 2,500 7,600 RALBBS
1.80 59 42 5 <1 <1 - -




iK1 T2 6 FEEBETRENDLOMBAELRE (RILHXK)

KEREHER EARERR
No. % HER | MER | K [ TURE| enm kg BWE | OBE | SS oLl Lt B sk iE Xk =
G Ty Gem | ® e B Ba/) Al I Ba/ke)
134CS 137CS 134CS 137CS 134CS 137CS
439 |7t XEH H26. 10. 27 = 0.64 0. 60 0.10 14 17 15 < < - - 9 62 8,100 25, 000|282
440 | =R XEH H26. 10. 27 & 0.16 0. 60 0.10 11 8 13 < < - - 2 39 390 1,200/ 28
441 [F/ it XEH H26. 10. 27 & 0.52 0. 60 0.10 85 4 4 < < - - 8 46 3,100 9, 800[fEE R
442 | £/ ith XEH H26. 10. 27 = 0.78 0.40 0.10 22 0 18 < < - - 8 28 1, 000 3, 100[{EE 8
443 [EEH XEH H26. 10. 27 = 0.33 0. 60 0.10 13 1 23 < < - - 9 69 3, 800 12, 000[{E 58
444 S35 XEH H26. 10. 27 [ 0.43 0.40 0.10 35 61 150 < 2 <1 <1 9 69 2,000 6, 100[{EE 8
445 [P 8 XEH H26. 10. 27 & 0.44 0.70 0.10 23 6 8 < < - - 5 64 2,700 8, 600[{EE R
446 |ZEt g XEH H26. 10. 28 & 0.35 0. 60 0.10 15 5 4 < < - - 4 45 640 2, 100[{EE 8
447 [FEE ALl XEH H26. 10. 28 = 0.46 0.80 0.10] 60LLE 1 2 < < - - 4 44 290 L000[{EE 8
448 [higt-sHith XEH H26. 10. 27 & 0.85 - - - - - - - - - 5 46 3, 500 11, 000[{E 58 SAE KA EE FRKA AT
449 [ZEM: XEH H26. 10. 27 [ 0.47 0.40 0.10 12 41 55 < < - - 1 57 4,700 15, 000[{E &8
450 |ZEIRCR KA it XEH H26. 10. 28 & 0.28 0. 60 0.10] 60LLE 3 2 < < - - 9 64 2, 400 1,400[fEE 8
451 |4FR XEH H26. 6. 27 & 0.22 0. 60 0.10 16 5 1 < < - - 3 23 150 380[{EE R
452 % XEH H26. 6. 27 & 0.30 0.50 0.10 47 1 5 < < - - 5 55 1, 600 4,500[E8 8
453 |5 4 ith XEH H26.8. 7 & 0.43 1.80 0.50 24 13 1 < < - - 7 49 4,000 12, 000[ L B BE




